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5 FAX )3 20 25 30 40 50 A — 5 —~ 2 (R )
A—)LibAkK  A-VP 10,580 | 13,930 | 20,250 | 31,180 | 40,830 | 88,780 | | ##% 1 5 (13mm}H) 12,350
L) B-VP SUS 36,480 | 44,030 | 58,930 | 70,280 | 78,850 | | #4#k 3 % (20/25mmH) | 22,650
RA=R =Yy L DHRL 1,330 | 1,800 | 2,580 | 4,700 | 5,900 gk 2 5 (30/40mmf) | 38,230
A =4 —Hift-Ed it (75 v oA 29,850
A= —ffEy r o bohaL | 3,830 | 4,600 | 7,380 | 15,250 | 18,500 | 46,730 | [#B% A — 5 —= 2 ({5 7 L — fb)
A — & — e 430 480 780 | 1,200 | 1,650 | 3,050 | | FRP 1 % (13mmfH) 5,000
A =& —ffEy ry bR 4,930 | 7,730 | 10,150 | 16,480 | 20,480 FRP 3 % (20/25mmfH) | 7,880
A==y bBRL 2,800 | 3,950 | 5,700 | 9,000 | 12,100 FRP 2 % (30/40mmf) | 52,000
A — & —fififE T LR 6,680 | 9,330 | 12,400 7 — @GRS OflikeE (AL F)
A =& — T )R 3,530 | 4,700 | 5,830 Ree b
X—= =8y F Y 50 60 80 110 140 160 | R =7 —spht
F v v F9¢ CAR Re 8,230 | 13,130 | 17,700 W =fifii (x—2-»aL)
M=+ —% =Rl — ki
F v v ¥ 9 FK% MXRe 5,500 | 7,400 | 9,900
F v v ¥9¢ FK® Re 6,850 | 9,330 | 13,650
F v v F9¢ NKA! Re 30,400 | 37,200 | 51,150
F v v ¥ FKH RXRe 6,830 | 9,330 | 13,650
Wik 37 A (ALIDRK) 3,130 | 3,280
EJEFAZA 2y b ) | 3,180 | 3,580 | 5,100
EJHET 2 24 2 )L % () 3,850 | 4,080 | 6,800
EJET LAV b GEF) 5150 | 7,550
H= v 7 1,730 | 2,000 | 3,080 | 3,680 | 4,900 | 6,950
g FAX T 90%13 | 20 25 30 40 50
R—JLikARK  A-SSP 17,700 | 17,950 | 26,230 | 41,050 | 47,730 | 96,500
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(MPa) (mm) (MPa) (mm)
A 0~06 | 65 16,800 0~06 | 65 |29,800
BTP-L | T |0~50/0~100| 0~1.0 TP-L | L% |0~50/0~100| 0~1.0
0~1.6 100 |17,300 0~1.6 100 |31,800
B 0~06 | 65 19,800 B 0~06 | 65 31,800
BTP-S | 377 | 0~50/0~100| 0~1.0 TP-S | 3%1|0~50/0~100| 0~1.0
0~16 | 100 20,300 0~16 | 100 |33,800
M AR AR R D TRE LD ET (HEfvs < {8/ 1) 0~06 | 65 33,800
} TP-45N |45/ % | 0~50/0~100| 0~1.0
FE SR 0~16 | 100 |35800
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i/ E2.0Mpa By
=knays| Gk |G () /SUS| G3/8XRe3/8 4,500
LNC " TiiI:2.0Mpa B (#4) /SUS| G3/8 X Re3/8 | 5,200
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